

SCHEDULE OF SERVICES
FOR
JUDICIAL CENTER – COURTROOMS 1 AND 2

This Schedule of Services pertains to an Agreement by and between UNION COUNTY (“Union”), and INTER TECHNOLOGIES CORPORATION (“ITC”), dated September 1, 2021 (“the Agreement”). Pursuant to the Agreement, ITC has agreed to provide audiovisual (“A/V”) design/build and maintenance services on existing and future Union County systems on an as-needed basis. ITC shall perform services on the project described below as provided herein and in the Agreement. This Schedule of Services shall not be binding until it has been properly signed by both parties. Upon execution, this Schedule of Services shall supplement the Agreement as it pertains to the project described below.

PROJECT NAME: Judicial Center – Courtrooms 1 and 2

PART 1.0 SCOPE OF WORK: Union has worked with ITC to identify certain A/V needs within the Judicial Center (the “Building”) located at 400 North Main Street, Monroe, NC. ITC shall be responsible for the scope of work for the certain areas of the Building as described in the Agreement and Request for Proposals No. 2021-070, which includes but is not limited to design, engineering, material, labor, and testing of equipment.

ITC shall provide all equipment, accessories, wiring components and labor to install A/V systems for certain areas of the Building, as further detailed in Quote #2400277Q (the “Quote”), which is attached hereto and incorporated by reference. ITC shall install the equipment in accordance with the specifications and locations as listed in the Quote. Following installation of the equipment, ITC shall perform comprehensive testing on the newly-installed equipment to ensure the system functions as designed. Union, at its option, shall participate in the systems testing with ITC. ITC shall also provide training on use of the new systems to Union. After the systems are tested and Union is assured that they function as designed and as needed, Union will accept the systems in writing, as set forth in Section 6 of the Agreement. Following Union’s acceptance of the systems, ITC shall provide Union with a plan showing the completed systems as installed in the Building. The one-year manufacturer’s and parts and labor warranty periods required by the Agreement shall commence upon Union’s acceptance of the systems.

PART 2.0 PERIODS OF PERFORMANCE: ITC shall commence and complete the work under this Schedule of Services as follows: Work will begin no later than June 17, 2024. Final installation and testing shall be completed by June 21, 2024. This schedule may be altered or extended if, in Union’s sole discretion, Union agrees to a schedule change in writing. The work commencement and final installation date may be reasonably adjusted based on equipment availability.

PART 3.0 PAYMENTS: OWNER shall pay ITC a total of Seventy Seven Thousand Six Hundred Eighty-Eight and 76/100 (\$77,688.76) for services performed under this Schedule of Services for the Building, in accordance with the attached Quote. Payment shall be made to ITC in accordance with the following milestone: acceptance of the system by Union. Any future

maintenance and repair services will be performed upon the request of OWNER and at the rates listed in Appendix A to the Agreement.

This Schedule of Services is executed this _____.

UNION COUNTY, NORTH CAROLINA

INTER TECHNOLOGIES CORPORATION

By: _____

By: _____

Name: Brian W. Matthews

Name: Randy Scott

Title: County Manager

Title: Southeast Regional Director of Sales

Address: 500 North Main Street

Address: 112 East Green Street

Monroe, NC 28112

Franklinton, NC 27525

This instrument has been preaudited in the manner required by The Local Government Budget and Fiscal Control Act.

Deputy Finance Officer

Approved as to Legal Form: RLM



Quote

Date	Quote #
2/1/2024	2400277Q

Inter Technologies Corporation
 Franklinton
 PO Box 1832
 South Bend IN 46634
 United States
 www.intertech.tv

Bill To	Ship To
Liz Cooper Union County, North Carolina 500 N Main Street Monroe NC United States	Jourdan Westenberg Union County Government 500 N. Main St. STE 921 Public Communications Monroe NC 28112 United States

Expires	Sales Rep	Project	RFQ #	Terms	Shipping Met...
3/17/2024	Scott, Randy	V2 Courtroom 1 a...			UPS Ground

Shipping Co...

Item	Manufact...	Quantity	Description	MSRP	Discount	Rate	Amount
			Quoted under Contract number 7177				
			Add Digital Sign in Judicial Center lobby,(content source, HDMI out from Sheriff Station PC inside courthouse)				
			CAT6 cable pathway penetrations (if any) by owner				
			Owner furnished 65 inch display				
ITC-MOUNT-PTW-37-70	ITC	1	PULL OUT FULL MOTION LCD/LED WALL MOUNT	598.80	45.1253%	328.59	328.59
ITC-TV-HAR DWARE	ITC	1	Qty 6 TOGLER ACCESSORY 1/4-20	22.90	42.4891%	13.17	13.17
			Qty 6 1/4-20 3inch bolt				
			Qty 6 1/4 washer				
60-1271-12	Extron	1	HDMI Twisted Pair Transmitter - 230 feet (70 m)	570.00	45.1246%	312.79	312.79
60-1271-13	Extron	1	HDMI Twisted Pair Receiver - 230 feet (70 m)	570.00	45.1246%	312.79	312.79
AHH2.0-6	WINDY CL...	2	6' HDMI-M TO HDMI-M 2.0	19.04	24.3172%	14.41	28.82
			****Remainder of quotation pertains to Courtrooms 1 and 2 audio and control system refresh****				
			(all existing video components will stay and are to be repurposed in new system)				
			Audio				
TesiraFORTE AVB AI	Biamp	2	12x8 DSP 8 Channel USB	2,998.00	33.5203%	1,993.06	3,986.12
DN-300RMK II	Denon	2	Solid-State SD/USB Audio Recorder	329.00	19.6079%	264.49	528.98
EX-MOD	Biamp	2	Modular expander that is capable of using up to 3 expander cards	1,888.00	32.8596%	1,267.61	2,535.22
EIC-4	Biamp	4	4 channel mic/line input card for the EX-MOD	354.00	43.5734%	199.75	799.00
EOC-4	Biamp	2	4 channel mic/line output card for the EX-MOD	312.00	30.0%	218.40	436.80
60-1301-01	Extron	2	Four Channel Bridgeable Output Amp, 100/200 Watts	1,250.00	39.4176%	757.28	1,514.56
60-1449-01	Extron	2	One Channel Amp, 60 watts at 70 volts	590.00	45.1254%	323.76	647.52
CM60DTD	Biamp - Apart	26	6.5-inch two-way ceiling loudspeaker			116.34	3,024.84
MX412D/C	Shure	14	Cardioid-12" Desktop Gooseneck Condenser Microphone, Attached 10' XLR Cable, Logic Functions, Programmable Switch and LED Indicator, Attached Desktop Base	478.00	45.1255%	262.30	3,672.20
MX418D/C	JBL	4	Shure mx418d/c Desktop Gooseneck			262.30	1,049.20
C2PM	JBL	7	One Control 2P Powered Master speaker (without passive extension speaker) and power	200.00	25.28%	149.44	1,046.08



Quote

Date	Quote #
2/1/2024	2400277Q

Inter Technologies Corporation
 Franklinton
 PO Box 1832
 South Bend IN 46634
 United States
 www.intertech.tv

Item	Manufact...	Quantity	Description	MSRP	Discount	Rate	Amount
SLXD124/85-H55	Shure	2	supply. Combo System with SLXD1 Bodypack, SLXD4 Receiver, SM58, and WL185 Lavalier Microphone	1,249.00	37.6117%	779.23	1,558.46
SB903	Shure	4	Lithium-Ion Battery for SLX-D	56.00	25.5179%	41.71	166.84
SBC203-US	Shure	2	Dual Docking Station for SLX-D transmitters and SB903 battery	159.00	30.283%	110.85	221.70
UA8-470-530	Shure	4	Half-Wave Antenna			25.24	100.96
LS-55-072	Listen	2	Listen iDSP Prime Level III Stationary RF System (72 MHz)	2,118.99	13.6084%	1,830.63	3,661.26
LA-402	Listen	8	Universal Stereo Headphones	23.00	4.5652%	21.95	175.60
60-1417-01	Extron	2	Control IP LinkA® Pro Control Processor	1,990.00	42.9191%	1,135.91	2,271.82
60-1565-02	Extron	2	10 inch Tabletop TouchLinkA® Pro Touchpanel - Black	2,790.00	36.471%	1,772.46	3,544.92
60-1688-01	Extron	2	Network Button Panel with 5 Buttons - Decorator-Style Wallplate	450.00	6.1022%	422.54	845.08
SW-100-08P	LUXUL	2	8-Port Gb PoE+ Switch W/Uplink 92W	240.00	33.6917%	159.14	318.28
70-883-02	Extron	2	Volume and Mute Controller - DecoraA® Wallplate	150.00	36.3467%	95.48	190.96
			Laptop				
			Hardware				
70-1097-01	Extron	2	SMB 111 One-gang, Black			120.73	241.46
60-604-11	Extron	4	1U 6inch Deep Basic Rack Shelf	60.00	21.35%	47.19	188.76
RK219WALL V	Startech	2	Startech 2U 19-Inch Steel Vertical Rack and Wall Mountable Server Rack			46.29	92.58
PDX-915R	MIDDLE A...	4	NEXSYS™ 9 Outlet, 15 Amp Rackmount Power with Multi-Stage Surge Protection			192.61	770.44
UPS-2000-OL	SurgeX	2	3RU 2000 VA Online UPS 4 Outlet 20A; On-line Double-Conversion UPS Technology	2,019.00	-20.0783%	2,424.38	4,848.76
			Cables and Connectors				
Cable Package-Single Room		2	Single Room Cable Package Includes Cat6 UTP, Speaker, Cat6 STP, Audio and HDMI Cables.				3,801.54
I22153-WQ4 83627	Liberty Cable	4	Custom Wall Plate			50.92	203.68
I22153-WQ4 83637	Liberty Cable	4	Custom Panel			57.56	230.24
I22153-WQ4 83670	Liberty Cable	2	Custom Panel			39.26	78.52
I22153-WQ4 83672	Liberty Cable	2	Custom Panel			38.85	77.70
I22153-WQ4 83673	Liberty Cable	2	Custom Panel			95.64	191.28
I22153-WQ4 83676	Liberty Cable	2	Custom Panel			69.79	139.58
I22153-WQ4 84024	Liberty Cable	2	Custom Panel			45.28	90.56
I22153-WQ4 83635	Liberty Cable	4	Custom Panel			91.07	364.28
I22153-WQ4 84022	Liberty Cable	2	Custom Panel			51.69	103.38
I22153-WQ4 84023	Liberty Cable	2	Custom Panel			34.74	69.48
DL-AR	Liberty AV ...	4	DIGITALINX ADAPTER RING	129.95	48.9034%	66.40	265.60
PD-815SC	Middle Atla...	12	SLIM PWR STRP8OUT15AW/	128.00	26.6875%	93.84	1,126.08
			Labor				
Project Management Programming		60	Project Management hours			65.00	3,900.00
		40	Complete Programming and Testing hours, Minimum Certified Programmer Certification	150.00	56.6667%	65.00	2,600.00
Level 2 Close Out Docs		317	Level 2 Tech hours	100.00	47.5%	52.50	16,642.50
		40	Close out documentation to include all user manuals, parts list with serial numbers, cable test reports with label numbers, and instruction sheet			52.50	2,100.00



Quote

Date	Quote #
2/1/2024	2400277Q

Inter Technologies Corporation
 Franklinton
 PO Box 1832
 South Bend IN 46634
 United States
 www.intertech.tv

Item	Manufact...	Quantity	Description	MSRP	Discount	Rate	Amount
				Subtotal Shipping Cost (UPS Ground) Tax Total Total		71,418.98 1,357.32 4,912.46 \$77,688.76	